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The candidate has to answer compulsorily all 5 questions from Section I and
all 5 questions from Section 1L Intemal choice is available for each question.
Each question in these Sections carmies 10 marks.

The candidate has to answer compulsorily all 4 questions from Section 111, In
this Section, cach question carries 12,5 marks.

Mention the steps of calculation for each question of Section 1 and Section I1.
Non-programmable calculators are allowed in the examination.

The Question Paper is set in English and translated into Telugu language. The
English version will be considered the authentic version for valuation purpose.

Write the Answers only in the space provided below the each Question which
is printed in the Answer Booklet. Any deviation will not be considered for
valuation.
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{a)
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SECTION . |

A merchant has announced 16% rebatc on piices of ready made gesmenis. If a

purchaser wants to bave arebatc of ? 682, whal is the misimwan mamber of shins
 f each sh 1t g 275 7

he hasio buy if e rtlsoos;gR 5 - @,

A man can swim ogeins! the currant s distance of 1.5 kilomc:trein 36 minutes and
ictums 1o the storting point in 23 minutes, Whuit is the nitio of his speed 10 ()it of

the qgrenl ? g}«'
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(a)

(b)

(o)

bed® o Growd) 24 DXIG G5 Kedh word 98D Fn-D8, Pde
Hrde 535 4% XN o8 7

A man ipvested onc-fiRkh of seme anwun! a the 18te of 6% simple interest, one-
foumth of the amount at the 1ate of 8% compound wrerest and ke remaining
amoumt 3t the 1aic of 12% s mp ¢ intevest, What 25 the anount he ipvested if he
receives ¥ 78.400 as inlerest after ope year oa all Ihe three investments together 7

OR 859

Asclisen aricle b Bfor2935 are loss of IS 9% B selis the same article to Cet e
price. Had A s0d tho aiticle 10 B &t the price ut which B soid 10 C, A would have
made 20% profit. At wial percentd d B gain or lose while selling The &ticte to
c? '

18 538 M S aH) Fed Fundd af Hokd §% LEY (u-t) B8,
ool oo 8% SSRGS, DRSS Teed) 12% VOE (erh) S48 N
U ¥ VoD8)60 08 v ISPy 888 QPS> Do B4
78400 GrJabuand @S IXY IS o Jod ?

A a8 BOYD 15% Bpod’ B & 935 Erddbe® sk, o Wy C &
Boﬁ'&d’ céB Ua)a'k 3B8&A o&&éoﬁl\ 8 20% %o :bbgaoa-e.
wavd B 8 QY0 oA 2 EDod ?
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If 3 car zravels a1 60 bv/he, it would reech the destinetion hatf sw hour defere (he
scheduled tme Ifit Iravels at S0kaubr 1t would be late by 30 m nutes. At what
spedd <hould il zave 0 kal it ieecheson t me ?

OR

In a3 MBA college, 68% of thc studenws opted for Marketlng specia isation and

57% of the s:udans opted for HR specialisation @wd there =re 30 studense who

opled forboth specinlisiiions, What isthe total sengih of the college 7 )
—

28 5% oo 60 8&'DeY Fod' PiatrdoDd Ibed Mg F'arD¢
wdiots dwokvir, Kot 0 8&'DeE I8 Ddsetn Sk od
g P2 wdifod acfornie Jtheod. g8 WG Ldrabod®
Joreod % Jod Sifod (Cesrdos B ?

L% MBA (orrod’ 89 IigEhST 68% dorgbed IrF S0, 57%
Rrgthes HR %o &80k 30 08 TodSR FFRq k. o Sv-wredd ndo
o gtho owg 03 7

A treder maris oo itoin 20% above the c¢ost price. He sells the article afier
offering discount and suffexs loss of 1% in this trarsachon. What perocni
dizcounl is offered ?

OR

150 Laptops were 1o be sold with an inicaded profit uf ® 2,650 per laptop. OF
these 150 laptops, 75 laptops were 3@ § at 8 profit of ¥ 1.38,430: 18 leptops were
soid at a profit of T 2,250 per laptap, If ihc eost price of eachlaptop is T 25,990,
lhen at whot price (he remsining leptops arc to be sold $0 thst the inlended profit
is realised ?
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WwNOLamd H3 cdbw By 3 25990 S-dawcowd DADD
erDitr e 8 SR8 Jo8 $6% S AFF0TD ortiie Ty ?
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The probability that a person is not a swimmer is 3/7. Out of 7 persons what is
the probability that exactly three are swimmers 7

OR
If three dices are rolled once, what is the probability of any two dices showing
the same digit 7

a8 D28 Sidmd SEDNGEIE Dogrigd 37 soawd JHNOS" niph
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=
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SECTION - 11

Read the paragraph thoroughly and answer the following questions.

There are 250 students in a college, of which 50 students study only Computers,

60 students study only Mathematics and the total number of students studying

Chemistry is 97, 20 students only study Mathematics and Computers together. 15

students study Computers as well as Chemistry. 23 students study none of these

three subjects. The total number of students studying Mathematics is 102. Ten

students study all the three subjects.

(1) How many students are studying Computers 7

(ii) How many students are studying only two subjects among Computers,
Mathematics and Chemistry ?

(1) How many students are studying either Chemistry or Mathematics ?

(iv) How many students are studying exactly one subject 7

(v)  Number of students studying only Mathematics is what percent of number
of students studying exactly one subject ?

OR

Read the paragraph thoroughly and answer the following questions:

In a college of 800 students, 20% are studyving B.Sc., 30% are studyving B.Com.,

20% are studving B.A. and the remmning are studying either MCA or MBA. The

number of students studying MCA and MBA are in the ratio of 2:3. The ratios of

number of males to females in B.Sc., B.Com., B.A, MCA and MBA are

respectively 1:1, 1:2, 2:3, 3:1 and 7:5.

(i}  What 15 the ratio between male students in B.Sc. 1o the female students in
MBA 7

(ii) The male students of MCA constitute what percent of the female students
of B.A. 7

(iii) The female students of MCA constitute what percent of the male students
inBAT

{iv) In which course the percentage of males is the highest ?

(v) What is the average number of female students considening all courses ?
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(a) Read the following paph and answer the following qucstions ;
A walch company produces four diffevent products, The ssles of these praducts
(0 lakh umts) during 2014 and 2015 are shiswn an the following grapl):

(i)
{ib)
)

ﬁrﬁ—:

iv)
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The slc of wnst wasches i 2015 is what horoont moi ¢ than the salc of 10/ -
eahic clocks in n: same year?

Whit is the ratio of sae of slop watch in 7015 lo the <ele of tahle clock in
20¢4? <D

Whist 15 the dillerenoe between the szlc of tab ¢ clock m 2004 and the sale
of walt clock in 20147 Ve

in which product we con witness thcw cheagc ia the
period 2014-2015?

For wh ch peoduct the soles have i by pcasly 138% fkom 2¢14 to
20152 g ud&“ ’

OR

(b) Read the fallowing p e char:and nnswer the questions

{i)
@)
)
(v)

v

Ple-chart showing the sales of dilfe;ent cars

Myodsd  Mamit
7 122

=

ir X amw)

Asdi  gge
e G
{f the number of Audi cars aold is 300. ther bow many M.’md Tata cars
together were sold ?

Combinatton of whici) three car i (excluding others) that contribuie 1o more
than 50% of the tota sole ? Moy v rhiha dre

What isthe 1anobetween the seles of Marug gad Inte ? -7 2: \

If 30% of the s & resened for Maruti be d stributed to Hyuod® and Tata

n the rapo 2:1. then wha will be the engle correspinding (0. 2iyupdaiin the
new pie-chart 7 aS - W

If the salc of Marvti 5 5 times of that of Hoado and the sale of Honda is 2
times that of Audr, then what will be the ratio between e Mnrub and Auwdi ?
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(iv) 53 58 udngod’ 10% % dngedol L0 &rér 021 | JHAS*

{v)

Lol T - wES Ingobah ded 8 D) W Ipad !
T8 =8 win i Foa 5E winsNE 5 3t B Ifoa ¥
ot ad 5+ $INsIE 2 0w waoh, 3 Wodd o3 s+

e‘sz‘o g K3 ed ?

Study the following radar diagfam and answer the Guestions.

The Redar Diegam given below shows he percenunge disasbution of the

production of virious models of a mobile manufactuting compeny in 2014-2013
‘The tosal production i n 2014 was 85 lakh unilsand in 2015 the ptoduclion was 94
Inkh units,

Perccntage of slx diffcrent types of mobiles maaufaccured by a company over two Mcars.

106

(i)

()

(m)

(iv)

W)

What wes the differcice n the numberof B type mobiles produecd in 2014
and 2015 ?

If the percentage produciion of A type mob Ics in 20 [5 was same s thatin
2014. tha) how many A 1ype mobiles produced in 20157  \v ¥

1 85% of the D type mobiles produced in cach year wete sold by the
company. how many D type mobites remsined wasold 7§ A

Whal is the 1ota] number of mobiles of models A. B and £ menufaciured in

2014 7 \W~§\é’9

Fot which model/modcis wes the percentage variition in groduction fom
2014 e 2015 the maximum °

®R
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(b)  Swudy the following tablc und answer the Questions

The following fable gises Hatn wisc expenditue devdils of @ tamily during the
years 201 3-201 5. {Expendilurc in T "000)

1500
1400
1300

8

~sdEEBCRES

Food Howsc Reat | - Chotling

L J

(@30 210

10

pJe /] 100 8 260

1200 140
1400 3oo

e w 0 ne b Y]
2 N 30 (50 L)

(o)

(1)  Whati's the percent increase in expenditure on Educntion during 2013 to 2015 ? v/

(i) Cons daing the tolal cxpenditure for all the three years 1ogethe what s the
percent expendiiize on House rent ?
(iii) Whal is the wetal expanditure of Food an 2013. Clothing in 2014 and

Miscellancous in 2015 ? a\zc o
(iv) What s the perccninge of hots

rexl in 2015 in the lotal expeadinwe in 2014 7 W5

(v) Expenditwie of clothung Q 2014 is whal percent less than the Expendiitie of

Educabonin 2013

& (Zoi 20 0°ar8 Jjsrd) ORDeD, &K P Lrgarw wixod.
o8 DjE0 2014 HCel 201 5 WS TS’ 8 WPE Salib Hetrd S
ShuG XX k) S0 IOoB 2014 DoSSYHod’ 200D Ido Iy
&ab-d € e¥e ook rrde, 2015 €° 94 oo Ardin MV 350

Jodhs 058307 E* w0l 28 P Subrd 20T Satrdiebay W) fsw WPy TEW
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(i) 2014 Dod 2015 Lobdyored' 4848 sarn ‘B’ S¥o 2Dy Dgie
wpangc Jod 7

(i) 2015 &* =bAS A’ S50 Do 438 v&hn 2014 &* 2005 ‘A" S¥o
Bl a¥)8 Tedd Lhrbo sard, 2015 & ‘A7 G0 BB I
Sairdh srogran 7

(i) (28 Dobdéydo ddirlorn ‘D’ dEo wPd” §5% eRuddim 40 D
g% B sid Eieh ? '

(iv) 2014 2obd o~ mive, A, B, E 20D dsves 50D Sodin X0 Sabrd

ax ?
(v) 2014 %08 2015 % 2 S¥o/Ssme BairbE'D Sgergh wio KOLo ?
o

|Bod adyn DS LOYBD, HILD (Do threrares wbeod.

(B0 DEE 2013-2015 Doddyoruh M ¥ Hiuovo Gl dpdbo (Sud’)

wore b

|5
laa
300 ?
1200
116 ,,.-""v'
100 ,.;
L]
0 )
]
a0 Z
S i
i)
i 7
200
pon f
i
= il K] 10e50 1] (L 50 200 oa 20
D4 130 40 I . &0 el 1] 1 £
@S [FH] n ]| 0 ] 150 ]

(i) 20137308 2015 0DSN008 s JbeBiS G, dpdbod’ Witk TEd0s ?

(i) =y e Doddyores HD Sod W Hydin durd Dobdyore dndo
Spabod’ Jod o ?

(iii) 2013 &* P& Qe Spatim, 2014 & F'8of agy Spabin Lo 2015 &*
2HAET Sgaire Fwdo Jod ?

(iv) 2015 LobdyGind'D F0 Toff fgabo 2014 Loddybo ¥ o
Sgabod” Jod wdo ?

(v) 2014 &' E'8of aiofy Spabiw 2013 &' JbpThS gy Spabos* Jod

do 8557
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Each of the following sequences follows a definite pattem. Complete the

sequence by replacing the question mark with suitable answer.

() 8281165847 >

@) £B,D.G? ¥ o

(iii) FHK :LNQ:: RTW:? xZ, &

(iv) 1f‘+" means division, . means addition, *+" means multiplication and *x°
means subtraction, then what should come in the place of question mark 7

157 %36-54+9x15-9+8=12 y #O

4 8][4 ille 1
m e T

9 13 |52 15

(2)

(v) it

#olle™

OR
Each of the following sequences follows a definite pattern. Complete the
uence by replacing the question mark with suitable answer.

Cg 4, 48, 180, 448, 7
M, th'ﬁg':-!n
CEH PIKN ::0QT:? T

] - b PES
R, ke jivision, ‘- means addition, *+* means multiplication and
means subtraction, then what should come in the place of question mark ?

132 + 12 15046 x (36 + 6} + 5=7

(k)

(i)
(iii)
()

v [ra~w 28][34 26 oq 8
G a 3z 38 g J
_ ‘l' b
) i 2] [s7 19] |49 2

=
42;0& phed® [@wom) o8 (5 bgadt ammon. LS Fhodt I
ool Woodcd.
(i) 8,28, 116,584,7
(i) AB.D,G?
(iti) FHK:LNQ: RTW:?
(iv) ‘4 e g g, - i EraE, 0 Hmstan bdy *x'
o SU38 waud Prmgs Feod® D Iped T
157 % 3654+ 9% 15-9+8="7

4 5|14 1l le ]
2 ]
") 330 423 .
9 13] |5 9| lo 15
To
11 P.T.0.




(w)

rl,u./"m

()
{ini)

-[iv]

(v)
(i)
(i)
{11}

{iv)

(vh

(Bod Phed’ [fmen) o8 B 2G8S° amman. RmPs FHod’ D

(i) 4,48 180, 448,7

(i) W.V,T,Q.?

(iii) CEH :IKN ::0QT:?

(iv) If *+' eoRm grrdidon, - oo Srdal, '+ sl DHoesdin idn
' o BLIE wad BrmgEs hod’ DD Baod ?

132412~ 150 + 6 X (36 +6) + 5 =7

27 28| |34 221116 %l

(v) 32 18 2

ie 34] |57 19] [49

In a certain code language *HYDERABAD® is coded as ‘FEZISBCBE'. In the
same code language, which word is coded as *HUZURABAD" ?

What is the mirror image of ‘ELEPHANTS® ?

If orange is called blue, blue is called red, red is called white, white is called pink
and pink is called green, then what is the colour of human blood ?

In a class of 40 students, Shyamala's rank is eighth from the top. Suman is five
ranks below Shyamala. Sunil’s rank is 20 from the bottom. How many students
are present between Sunil and Shyamala 7

IfL>B=>P=Rz>Z<Fis true, then what is the relation between L and F 7
OR

In a certain code language "RECRUITMENT" is coded as *UOFNUITQBDQ". In
the same code language, which word is coded as ‘DEVELOPMENT" ?

What is the water image of *CROCODILE’ ?

In English alphabset, if every vowel is replaced by its succeeding letter and every
consonant is replaced by its precceding letier, then what is the code for
*‘SUCCESSFUL" ?

In a row there are 29 boys. Ramu's position is 13" from left. Krishna is seven
places away towards right of Ramu. Ramu is present three places away to the left
of Shiva. What is the position of Shiva from right side of the row ?

fQ>T=M=<A >D=H =<K is true, then what is the relation between A and Q 7

12
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(i)

(i)

(1)

(1v)

(v)

(1

(ii)

(iii)

(iv)

(v)

.8 §°5 or0d® ‘HYDERABAD' o3 Lo ‘FEZISBCBE' i i % ol §'5
i & D8 'HUZURABAD' 630 8'6m {rDoduda’on 1
‘ELEPHANTS' o3 Ddo sgod® Jor £335008 7 (Mirror image)

Doz Boilims oo Jorbmie, duo Soris My Jolbms, Kbl Sort

mmm&%whmmwaﬁmﬂm
Sofbrria HO SRslnged” $o J Jorbe® aotwod ?

40 Jorglhesyy S8BT wghe o8 NDES ovgol, e San
5 orgohe IDES TS s, d orgof 808 Wod 20. wavd e,
Tgve Ldg Jod wobd aamd ?
L>B>P=R2Z<F ol Dégdd, L, F o gy o%) Towodo JDa?

Eor
w8 §'G griad’ ‘RECRUITMENT' o ior3y ‘UOFNUITQBDQ'  frDh
od gUd* J S0 ‘DEVELOPMENT' o 848" rDodubhé’od 7
‘CROCODILE" o3 Do 2d¢* Jov E2285008 7 (water image)
20fiip vfiirad’ (08 v 85 S0or3 sided’ Pf dabedd Lo 28
irey #0 woSd wfdod’ i dadbwdd ‘SUCCESSFUL' o Hdc Jo
ordbaad ?

8 DHVS" 20 Lod wreodh damh. X wod 13 D PFhod’ oiw aamd.

oriw ol HAZY I8 o BY (8 Homd. T MBIy b’ Faodt
o damd. SELE° 68 T wod O Fhod’ ¥h o ?

Q>T=MsA2D=H<K odd 0ésdd, A Qe Ss o) bowodo D ?
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SECTION -1l
Read the passages and answer all the five questions on each passage.

(Bod alyn woll agruin GBI, a8 BLD alyn o PR Serorare
(oo,

There are no dependable figures on crime in India. The available statistics cover
only those arrested and convicted, or the crime known to the police and even these
figures are not reliable. What is more serious 15 the white-collar crime which amounts
several times more than the conventional type of crime. By white-collar crimes means
the crimes committed by the upper strata of society in their business and professional
practices. These crimes are mostly committed by bureaucrats while discharging their
official duties. These are more dangerous than the conventional crimes as the impact of
these is felt on governance, and economic development of the nation. From the crime
statics or from newspaper reports we can obtain only a slight idea as to the prevalence
of crime in the country. Moreover, the data from the penal institutions show that a large
percentage of inmates are repeaters reflecting the failure of our society to rehabilitate
the criminal. The country spends several crores of rupees in detecting, convicting and
guarding the cnminals, vet crime goes on increasing day by day.

The sociologists are not unanimous on the point. Often the measures advocated
are based upon a particular theory regarding the cause of crime. The most accepted
view is that the causes of crime are multiple and no single theory can explain all these
causcs. These causes arc biological, psychological, social and economic. The reasons
for a person's having committed a crime can be discovered only after investigating his
personality and environment. In India various means are being explored for giving a
better treatment to the criminal inside the jail. The present prison administration in the
country guarantecs a prisoner better food, clothing, medical attention and recreational
facilities than what are available to a poor honest man outside.

Of the success of these measures it is impossible to speak with any certainty. We
cannot say whether these measures have been responsible for the cure of such criminals
who do not reappear before the court or they have simply given up crime by a process
of social maturation. However, it is universally recognised that punishment does not
reform the criminal. Whether or not it deters potential criminals is open debate.

Questions:
(i) Why white collar crime is more dangerous to society than other conventional
crimes 7

(ii)) 'What are the possible reasons for increased crime in the recent years 7
(iii) To what extent societal factors encourage criminals to repeat their criminal
behaviour ?
(iv) Suggest some significant measures to reduce the crime rate in the country ?
(v} Does the provision of giving better treatment to criminals inside jails ensure their
rehabilitation and guarantees their cure from their criminal behaviour 7
i4
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“I am known to be a Hindutva leader... My real thought is — Pehle Shauchalaya,
Phir Devalaya (toilet first, temple later),” said Prime Minister Narendra Modi shortly
before taking office. The solution came in the form of Swachh Bharat Abhiyan, which,
like many of his ambitious projects, Mr. Modi launched on a massive scale. Everyone
from ministers to the common man participated in the cleanliness and sanitation
campaigns. But forgotten in all the photo-ops were those who have to live a life of
indignity cleaning human excreta, India’s manual scavengers.

The medieval period practice of cleaning human excreta with bare hands has
been legally banned in India since 1993. But 1.8 lakh households eam their livelihood
doing this as per the Socio-Economic Caste Census (SECC) data released recently. The
practice is most prevalent in Maharashtra (63,713) and Madhya Pradesh (23.093),
followed by Tripura, Uttar Pradesh, Kamataks, Daman and Diu and Bihar. Once
emploved to clean human excreta from houses not connected to sewerage lines,
generations of mostly Dalit women have been forced to inherit this dehumanising
profession.

Parliament had enacted the Employment of Manual Scavengers and Construction
of Dry Latrine (Prohibition) Act in 1993, banning manual scavenging of houschold
toilets and requinng state govermments to rehabilitate the workers. The act stipulated a
year's jail and a fine of T 2,000 for anyone engaging manual scavengers or building
dry (non-flush) toilets. But the states hardly enforced the law as seen from the fact that
a 2006 report points out that in many years afler the act came into force, there wasn't a
single prosecution. The act also left out the workers who were sent down manholes,
sewage pits and storm druins and spared the law's biggest violator ¢ The Indian
Railways, which employed them to clean waste on the tracks,
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As a result of this, in 2013, Parliament passed the Prohibition of Employment as
Manual Seavengers and their Rehabilitation Bill, widening the definition of manual
scavenging to include the manual removal of excreta from sewers and railway tracks, It
also increascd the punishment to five vears in jail. Another ray of hope came from the
provisions aimed at rehabilitating the people working as manual scavengers. It should
be understood that years of hamiliation has left many scars, both physical and mental.
The government, with its thrust on technology and its ambition of providing a toilet for
every household, could end this practice if it made up its mind to do so. If the spirit
with which the Swachh Bharat Abhivan was launched continues, we may well see an
end to this medieval institution.

Questions:

(i)  Which law has prohibited manual scavenging in India and when ?

(ii) What are the regions witnessing the manual scavenging the most, in India 7

(iii) Who are the most probable victims of manual scavenging in India ? )

(iv) Explain the amendments made to the Act prohibiting manual é.-:.avn@n_g, in the
year 2013, '

(v} How can the practice of manual scavenging be ended in India 7
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13.// Effective use of land and water is fundamental to growth and sustainable

106

development. The concept of watershed management has evolved to ensure effective
use of both natural and social capitals. Thus, the watershed development programmes
include land, water and human resources as essential components. The watershed
programme i5 primarily a land based programme, which is increasingly being focused
on water, with its main objective being to enhance agricultural productivity through
increased moisture conservation and protective imigation for socio-economic
development of rural people.

Watershed management has been essential in a country like India where majority
of the population depends on agriculture and about 60 percent of total arable land (142
million ha) in the country is rain-fed. A large portion of the rain-fed areas is
characterised by low productivity, high risk and uncertainty, low level of technological
change and wvulnerability to degradation of natural resources. It is realised that
sustainable development is synonymous to maintenance of productivity of natural
resources and maintenance of ecological equilibrium. The watershed forms an
appropriate unit which links all these three components and has a direct bearing on
human lives. The watershed approach is a system-based approach that facilitates the
holistic development of agriculture, forestry and allied activities in the proposed
watershed.

Watershed Development Programmes (WDPs) have been accorded high prionity
in India's development plans. These programmes have been initiated to improve and
sustain productivity and the production potential of the dry and semi-and regions
through the adoption of appropriate production and conservation techniques. The
watershed programmes have stressed upon improvement of wasteland, runoff
reduction, water conservation and protective imgation mechanism in all areas
including desert prone areas and drought prone areas. Development programmes
envisaged under its purview include almost every activity which concerns land, water
and biomass production,

Questions:

(i)  Why watersheds are important to the environment and social communities 7

(it} How do you feel that close collaboration with people and different agencies will
help in better management of watersheds 7

(iii) List out some reasons for implementing watershed management practices,
{iv) Figure out some control measures to be implemented for watershed management.

{v) What are the specific problems in managing watershed management programmes
in India ?
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ld,ff'Th: current judges-to-population ratio in India is estimated at 17 judges for every

million citizens-far lower than most developed and even developing countries in the
world. The United States has 151 judges for each million of its population. Even China,
despite its 1.3 billion population, has a far higher ratio of 170 judges per million
people. According to a quick analysis, the poor judges-to-population ratio explains why
there is a consensus on the plight faced by India's justice delivery machinery with
some experts estimating that at current rates of disposal the backlog would take a mind
boggling 466 years to clear, Currently, the pendency of cases in the Supreme Court is
around 60,000 matters and the figures in the various High Courts and subordinate
judiciaries are around 30 lakh and 2.7 crore, respectively.

The Chief Justice of India highlighted how the Supreme Court of India had
disposed 2,600 cases last year as compared to a mere 81 by the US Supreme Court
during the same period and that the Indian judiciary was working “under very stressful
conditions:” He also mentioned how the issue had been consistently neglected for the
last three decades by successive governments due to which, “justice continues to be an
illusion™ for large sections of the society. While further elucidating on the present
condition and in particular the current system of judicial retirement, the Chief Justice
remarked, “At this stage, 1o ask a judge to go home (after retirement) is cniminal.™ He
has also proposed Saturday hearings in the Supreme Court to deal with the issue at the
apex forum.
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In fact, the Law Commission in as early as 1987 had called for a fivefold increase
in the number of judges to ease the judge-to-population ratio and increase rates of case
chisposal. The situation, though, remains roughly the same today, especially when
considering the 30 crore increase in population since that time. Large judicial vacancies
also add to this current crisis and multiple administrative tussles such as the long drawn
deliberutions on the National Judicial Appointments Commission for instance are often
cited as reasons. Currently there are around 5,000 vacancies in the judiciary across the
courts in the nation. Over the years, many calls have also been made to increase
budgetary allocations and provide more financial autonomy to the judiciary but the
amounts allocated still hover around a mere 0,2-0.4% of the Union Budget.

Another reason for the present scenario can be attributed to the country's
appellate structure. Disproportionately high numbers of cases are referred to the higher

-courts due to insufficient punitive measures in place to dissuade vexatious appeals and

wastage of the time of the courts. Unlike many Scandinavian countries, there are no
such measures are in place that statutorily increase the amount of damages initially
awarded when an appeal is unsuccessful, barring exceptional cases, -

The 245" report of the Law Commission in 2014 highlights several other reasons
for India’s current judicial situation and suggests sweeping changes to the structure and
functioning of the couris to remedy the issue based on Ideal Case Load, Time Based
and Rate of Disposal methods in addition to the *judge-to-population” ratio.

India will have to play a fine balancing act between judicial propriety and judicial
timeliness in the years to come if the country’s legal system is to withstand the test of
time.

Questions:
(i)  Explain the status of the pendency of litigation in India.
(1) - Why did the chief justice of India feel that justice continues to be an illusion for

large sections of society 7
(iii) Discuss the suggestions made by the chief justice of India to improve the

working of the judicial system of India.

(iv) What is the present status of appeals in India 7
{(v) What are the steps required to be taken to ensure the reduction in rate of litigation
and to resolve them in a speedy manner ?
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